Sysems Quiz

1. Draw the graph of each of the following equations usng any of the following procedures: (table of

vaues x & y intercepts or point dope)
4x+y=-8
2X -3y=6

I + y = —§

x—intercept (-8, @A)

2x — Jy =6

*x—intercept {3, @)

X

-ia -2 & -2 -6 -5 -4 -3 -

Approximation of Solution Set

(-1 13, -2 4.5

1 2 3 4 5 ] ? 8

y—intercept (@, -2}

{y—intercept {(B. —8)

2. Solve each of the fallowing sysems by the indicated method:

a) additionand subtraction

4x+2y =18
5x- 4y =3 3
- 5(4x +2y :ylS) 4x+2(3)=18  or 4X+2§i—2§= 18
4(5x- 4y =3 4x+6=18 286
Ax =12 (26)* 4x + 23%5* (26) = 18* (26)
- 20x- 10y =-90 x=3 104x +154 = 468
20x- 16y =12 104x = 314
314
- 26y =-78 X=107 "3
-78 78
= ="
Check (3)- 43)=3
15-12=3
3=3

Solution Set{(33)}

2

18



b) subgtitution

-2X+3y=-5 - 2Xx=-3y- 5 X=_3(1)_5
5x- 3y =17 > w=_3Y-5 .o
-2 _.3-5_-8
X=—— "= -
/ -2 -2
X=4
52 350 31y
€ -2 g
(-2)* 52390 gyx(L9)=17+(-2)
X, o y2a= Check:
-15y-25+6y=-34 5(4) - 3(1) =17
" 9y=-9 20-3=17
y=1 17 =17

Solution Set{(4.1)}



